Unwownpuiptbtp
e Quuupkp gnpénnnipiniup

59 81 59+81 140
109 109 109 109

108 35 108-35 73

164 164 164 164

159 =181 159+181 340

158 158 158 158

18 5 18-5 13

64 64 64 64

e Gnidwpbp Ynuunpuljukpp.

6 12 24
st 25T 50 =5

6 4 12 52 64

13 2 26+26 26

7 4_ 5 35 30 65
10 60 60 60

7 5 35 95

24 ' 10 120 120

e Junwpbkp Ynuuinpuljubph hwtimd.

10 3 20 3 17
4 8 8 8 8

14 4 14X94X5 106
5 9 5«9 9x5 45

[5,9]=45
45/5=9

45/9=5



14*9=126

10 3 138

4 15 60
[4,15]=60
60/4=15

60/15=4

10 3 38

12 15 60
[12,15]=60
60/12=5

60/15=4

o zuplbp
4

1- =1/1-4/7=3/7

1— %:3/3-2/3=1/3

1- i—11 11-5/11=6/11
1 /11-5/11=6/

1-— §=9/9-4/9=5/9

Tulhp2
Lupklp npnptg Jpubtinpngly hp tbgwubbywlyp:

Unwght opp ttwn junuplg wdpnne wojuwnwiph %—In} dwup,
EpYypnpn 01‘1]'_1‘ %‘E‘ Usluwtnwitiph nnp dwup dbwug juwnwpbn:



1/12+1/6=3/6=1/2

[12,6]=12

12/12=1

12/6=2

1/2-pn Jwpnuwg, % -nn. duwg

vunhpl

Utwhhwnp wpwehti opp Jupnug widpnne qpph %—p.l} dwup,

4 o

tpypnpn opp —-p: Uwhpunht gpph o p dwup duwg uprugm:
1/5+4/7=7/35+20/35=27/35

[5,7]=35

35/5=7

35/7=5

35/35-27/35=8/35

o Updwunkp Ynunnpuljukpp






